(HEX13)

F13 THEZHER
X J51E N5 I P2k F3 2k Iy =B +Z *Gy* Uy = 0.59
e . 1 = —
o ié?é C F Tz g [FHJTFU’;)ﬂE] Ey Sp T I Cru*Sp | Cro HE
1144 | 1. B BB 5 \
00 ] ¢ Ws | RE @) 0.457 0.365 | 0.365
9r|0.399 | - - S (F=  1.50) 0.800 0.294 | NG
- - - (F,=  1.00
0.183 [ 1.00 BB SRC (D=,
0.413 0.413 | 0.317
8F|0.515 | 0.616 | 1.27 CB\],SV%WS (F=  1.50) 1.000 0.245 | NG
- - - (F/’= 1.27
CB BB WS ‘
. 1.2 R
D56 ¢ WB SRC B 0.497 0.497 | 0.392
7Flo.590 | - ~ (F=  1.50] 1.000 0.245 | NG
- - - (F/)=  1.27 1.00
0.639 | 1.27 | BBWSWB | SRC  (8)x
. : A1
6Fr|0.652 | - - - (F=  1.50) 0-530 1} 000 0-530 1 0417 o oss | NG
= = = (F)=  1.27
0.554 | 1.27 |BBWSWB [ SRC  (8)z%
5F[o.700| - - - (F= 1.50) 0-499 1 400 0499 0393 o045 | NG
= = = (F,)=  1.27
1.188 | 1.27 | BBWSWB | SRC (83X
arlo.773| - = = (F= 1.50) 116611 000 11661 0918 15 045 | Ok
- - - (F/’= 1.27
Pl AR GRE - ZWE ROk Es)
(HX13)
F13 THEZHER
X J51E I J51E I WAL 3R Iy =B +Z *Gy* Uy = 0.59
o o Y e
o ié?é C F T g [FHJTFU’;)ﬂE] Ey Sp T I Cru*Sp | Cro HE
CB BB WS \
skt ) LZY WB SRC (® 0.695 0.556 | 0.438
sFfo.841| _ - ~ (F=  1.50] 0.800 0.245 | NG
- - - (F/’= 1.27
0.784 | 1.27 | BBWSWB | SRC  (8)=k
)t 0.908 0.817 | 0.643
or|0.912| - - - (F= 1.50) 0.900 0.245 [ OK
- - - (F/’= 1.27
0.002 | 1.00 WS SRCx  (7)=
R 0.979 0.793 | 0.625
1F|1.000 [0.771 | 1.27 |WSWBCE| (F= 1.50) 0.810 0.245 [ OK
- = - (F/)=  1.27 1.00
(F=
(F,’=
(F=
(F,
(F=
(F,’=

D E= A

T DT RORIE)




